Name: Date:

Teacher: Class:

Multiplication 510

Did you hear about the Shetland Pony who was asked to
leave the animal choir? He was a little horse!

Multiply these numbers.

L 9x10= 26. 8 x3= 5. 8x6= 6. 8x4-=
2 9x4= 2 9x12= % gx2= 1. 8xB=
3 gx4= B 9x2= 5 gx5= 1 gxQ=
4 8x2= 2 8x3= 5 gxg= 1 gx7=
5 9x9= % gx4= %5 gxp= 8 gx]=
6 gx4= 3. gxB= 5 9x6= Bl 9x@=
7 9x6= % gxg8= 5 9gx7= 8 9gx1=
5 9x12= 2 9x1l= % 9x5= 8 gx10=
% 9x1= 4. 8x5= s O x :—84- 9x10 =
0. 8x7= % gx6= 60 gx12= 8 gxg=
9 x12= . gx7= 6. 8xd4= 8 Qx4=
12 9x12 = 37. 8 x :—62- 8x6:—87- 8x4-=
13. 9gx2= 38. 8x5:—63- 9x9:—88. 8 x 2=
14. 8 x 3= 39. 8 x :—64. 8X7:—89' 9x9=
15 9x4= 40. 8><6:—65' 9x1:—90- 8 x4 =
16. 8x6 = 41. 9x6:—66- 9><6:—91' Ox6 =
7. 9x8= 2 9x7= 6 gxl= % gx12=
18. 9x11= 43. 9x5:—68- 9x10:—93- Ox1=
19. 8x5= 4. 9gxg= 0 gx10= % gx7=
2. 8x6= % 8x12= 1 9gx1l= % gxG=
2. 8x10= % 9x1= L gx4= % 8xb5=
22. 8x12= . 9gx3= 72 8x6= 9 QxB=
23. 9x9= 48. 8><7=—73- 9x1:—98. 9x7=
2% 8 x6= 9 9gx5= ™ gx12= % 9x7=
25. gx2= 50. 9x10:—75- 8x9= —100'8><2:
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Answer Key Date:

Teacher: Class:

Multiplication 510

Did you hear about the Shetland Pony who was asked to
leave the animal choir? He was a little horse!

Multiply these numbers.

1 9x10=90 26 8x3= 24 5. 8x 6= 48 6. 8x4= 32

2. 9x4=36 27. 9x12= 108 52 8x2= 16 7. 8x6= 48

3. 8x4=32 8. 9x2=18 53. 8 x5= 40 8. 9x9= 81

4 8x2=16 29. 8x3=24 4. 8x 8= 64 9. 8x7=056

5> 9x9=281 0. 9x4=36 5. 8x6 =48 80. 9x1=09

6. 8x4=32 3. 8x6= 48 56. 9 x 6= 54 8. 9 x 6= 54

7 9x6= 54 2. gx8=72 5. 9 x 7= 63 82 9x1=9

8 9x12=108 38 9x11=99 58 9x5= 45 8. 9 x10= 90

% 9x1=9 % gx5=40 % 9x8=72 M 9x10=90
0. 8x7=56 3% gxp=43 0 8x12=96 8 8x8= 64

- 9x12= 108 36 8x7=56 61. 8x4= 32 8. 9x4=36

12 9x12=108 3. 8x2=16 62. 8 x 6= 48 87. 8x4 =32

13 9x2=18 38 8x5= 40 63. 9x9= 81 8. 8x2= 16

14 8x3=24 39. 8x8= 64 64 8 x7 =56 8. 9x9= 81

15 9x4=36 4. 8 x6= 48 5. 9x1=0 0. 8x4= 32

6. §x6=48 4. 9xB=54 65 9x6=54 O 9x6= 54

1. 9x8=72 4 9x7=63 6 9x1=9 9% 9x12= 108
8. 9x11=99 4 gx5=45 6 9x10=90 % 9x1=9
1. §x5=40 4 gxg=72 _ © 9x10=90 % 8x7=56

20. 8x6= 48 5. 8x12=96 70 9x11=99 9% 8x6= 48

2. 8x10=80 4 9gx1=9 L 9x4= 36 % 8 x5= 40

22 8x12=96 4. 9x3= 27 2. 8x6= 48 9. 9x6= 54

2. 9x9=8l 4 gx7=56 7 9x1=9 % 9x7=63
. 8x6=48 4 9x5=45 4 9x12= 108 % 9x7= 63

% 9x2=18 5 9x10=90 75 8x9=72 10 8x2= 16
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